* EXAME‘63 Mzo.Su.r@ ‘Hne, (‘AAJus o‘l: 100 C.e”s omé ob"'ain o~
.So.vnplb meon  roadiws of Moo = 5-'0,am. From prion
.S'\‘wlies, we know the standard deviation is e = 0.5'3/.\,,,

> Find o confidence inferval for the mean with cwonfidence level 0495,

S.II\C.@ Voriance 1S kno\,.m, [mn - 6, Mn+ e] w|+k E€E = % Q-‘(%)
is o (onfidence inferval Ffor the mean with confidence level |-oc,

Solve for Z: I1-¢ =045 3 =005 = % =002S

LcokU-P Q-\(%_): MATLAB Qﬁl(%>= ql‘Fqncinv(%)
Q '(0.025) = gfuncinv(0.025) = .96

Solve for € €= 0.55 pm 1.4C = O-lO/u.m

100

[5.‘0,”». s O.!O,un]'; [S.OO,um, 5.10,”".] is o ontidence inferval
for the meon with confidence leve| ©.45.



* EXAME‘G: Meosure ‘Hne, (‘AAJus o'l: 100 C.ens ond oblain o
.SAMPI@ mean cadius of Mo = S0 um and. o

.SaumP\& VOrionce, O'F \Imo: O go,unzo

S Find & confidence inferval for the mean with confidence level 045,

Since the wvariance is u.nknow“, [.m'\- €, M., "'6] with €=- <o El':-‘ (2;->

=
is o cortidence interval for the mean with confidence level |-'¢\u,
Solve for %f-‘ |- =045 = % = ©.025

Lookula E.: (%‘) MATLAR E:: (95-_) = finv(Z, n-1)
E.:(0.0QS) = ‘|’°mv(0.025, qq) = -].9¢

Solue for €: = -Jo-wﬂ" (-mg) = 0.18um
|00

[5.\0,,\.”. : o"sf*""] = [q'q"f&m, 5-281*'"] is o contidence in'\'e,rva.|
for the meon with nfidence level 0.9S.



° EXAME‘G Mzo.Su.r@ ‘ﬂne, (‘AA.-u.S o'l: |00 C.ens o~n<\ ob"'oun o
.Smmplb mean cadius of Moo = S10um oand o
.Saump\& variance of Voo = O. Qo,um :

- Fim’- o wnf.;lencg m‘\'e,('\m\ 'For 'H'se. veriance w't‘l'h Con‘Fi(’enC& level O,QS,

Va, B.Va th = and  3,° is o onfidence
in‘\’e.rvod ‘For ‘H’m vot‘iamce, wa'l'\o cpn{:idence leve.‘ |- oL,
Solue for i |-tz 0485 3 $£=0025 I |-¥=0497S

Lookup E,:.‘(z) MATLADG ”1. <Z>— chi 2mv(2 W‘l)

Nl =l

x;(o.qu) = hidinv (0475 43) = 128.42
E,é'(o.uas) = chidinv(0.025, OH) = 73.36

Solve for P, B¢ B -m*w.- 0.77 3¢ 7336 = .35

[0.77 - 0.80 m‘L’ 1,35 0.80,&m1"] = [D.élluum,', \.Ozfam"] T
(Dn'ci M& iﬂ"'a\la\ ’FDI' “'\’\& VOrionce W‘+h (DV\'F‘A@V‘CQ/ ‘zve\ Ooq S.




